Cash Prize Winner Mrs.MADHUMITHA’s SOLUTION

Given

ABC is a triangle. Join OC & AF

£4BDA = £BEA =90°

= ABDE is cyclic

Let ZABE = £ADE = x = £EDC=90° — x
2BAD = £BED =y

= £LEBD = £DAE =90 — (x + y)

As '0' is orthocentre £OCB = y [CO extended to meet AB at H CH is altitude]
And £zDCA=x+y, 20CA=x

As OE = EF & AE is common

LAEO = £AEF = 90°

AAEO = AAEF (by SAS congruecny)

= LOAE = £EAF =90 — (x +y)

LAOE = £LAFE =x+y

LAOE = LAFE =x+Yy

£AFB = £AFE = x + y = ABCF is cyclic quadrilateral
similarly EC is common, EC = EF

£LOEC = £CEF =90°

A OEC = AFEC (by SAS congruency)

£0CA =x = LECF

consider ABFC & ADCG

£BCF = £DCG & (common)

4BFC = 2GDC =90 — x

By AA axiom

ABFC~AGDC

BF FC BC
=5 — = — = —
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